_> restart
> Ecua = diff (y(t), 182) +diff (y(2), t) +y(t) =3-exp(t)
2

Ecua:—d—zy(t) +iy(t) +y(t) =3 e €))
dr ds
[> Cond == y(0)=5,D(y) (0) =a
Cond :=y(0) =5,D(y) (0) =a ?)

;> with(inttrans) :
> EcuaTrans := subs(Cond, laplace(Ecua, t, s))

EcuaTrans == s* laplace(y(t),t,s) —a — 5 s+ slaplace(y(t),t,s) —5 + laplace(y(t), t, s) 3)
__3
i s—1
> SolTrans := isolate( EcuaTrans, laplace(y(t), t,s) )
% +a+5s+5
SolTrans = laplace(y(t), t, s) = )
i S +s+1
> SolPart = invilaplace(SolTrans, s, t)
1
-—t
SolPart :=y(t) =¢ + % (6 cos(% \/Tt) +sin(% \/?t) J3 (1 +a)) e ’ )

=> Parametro := isolate(subs(t =2, rhs(SolPart) =10), a); evalf (%, 3)
2
[% 10— —6cos(ﬁ)) J3
e
sin(\/?)

i a=5.79 (6)
> SolPartFinal == subs(a =rhs(Parametro), SolPart); evalf (%, 3 )

Parametro . =a=— —1

SolPartFinal :=y(t) =¢ + % 6 cos(% \/? t)

(1 310 —¢°
s1n(3\/?t) ET—6cos(ﬁ) 1,
+ © e 2
sin(\/?)
] y(t) =¢' +0.667 (6. cos(0.865 t) + 11.8 sin(0.865 ¢) ) e ¢ )
> CompUno = eval(subs(t=0, SolPartFinal) )
i CompUno =y(0) =5 ¢))
> CompDos = eval(subs(t=2, SolPartFinal))
i CompDos =y(2) =10 (&)
> CompTres = simplify(eval(subs(y(t) =rhs(SolPartFinal), lhs(Ecua) — rhs(Ecua) =0)))
CompTres =0=0 10)

> plot(rhs(SolPartFinal), t=0..3)
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> expand(evalf (SolPartFinal, 3) )
y(t) =€ +4.002 e """ c0s(0.865 ¢) +7.8706 ¢ "' 5in(0.865 ¢)

=> SolUno = y(t) =exp(t)

SolUno :=y(t) = e

> SolDos = y(t) =4.002 ¢ >’ c0s(0.865 ¢)
SolDos = y(t) =4.002 ¢ "’ c0s(0.865 1)

> SolTres == y(t) =7.8706 ¢ """’ sin(0.865 #)
SolTres .= y(t) =7.8706 ¢ sin(0.865 ¢)

B plot([rhs(SolUno), rhs(SolDos), rhs(SolTres) ], t =0..3, color = [ blue, orange, purple])

-0.500 ¢

an

(12)

13)

(14)
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_SolUnOZazul,SolDos=naranj a,SolTres:=verde

=> plot(rhs(SolPartFinal), t=0.3)
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